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Aptitude Test

Paper I1

Duration : 2 Hours|
Directions (Question Nos. 1 to 3):
Situation : Mr. Hanjeet wishes to get

hiz office renovated, He hires the

services of a plumber, a carpenter,

a painter, an electrician and an

intéror decorator. The renovation

is to be completed in a period of
one working week i.e. Monday to

Friday. Every worker will be

taking one complete day to do his

job. Mr. Ranjeet will allow just one
person to work per day.

(1) The painter can do his work
only after the plumber and
the earpenter have completed
their jobs.

i2) The interior decorator has to
complete his job before that
of the electrician.

i3} The carpenter cannot work on
Monday and Tuesday.

In case the painter works on

Thursday, which among the

following alternatives ig possible ?

(A} Electrician
Tuesday.

(¥} Electrician works on Friday.

(C) The interior decorator does
his work after the Pﬂlﬂtﬂ]"

(D) The plumber and the painter
work on consecutive days.

12(Py2—C

works on

[Marks : 200
Which of the following arrange-
ments is possible 7

{A) The painter will work on
Wednesday and the plumber
on Thursday.

(B} The carpenter will work on
Tuesday and the painter on
Friday.

(€) The carpenter will work on
Wednesday and the plumbeér
on Thurgday. 2

(D) Thé painter will work on
Monday and the carpenter
on Thursday

In case the painter works on

Friday, which among the following

statements must be wrong 7

{&) In case the carpenter works
on Thursday, the electrician
has to work on the previous
day i.e. Wednesday. *

(B) The plumber may work
before the electrician doss,

() The carpenter may work on
Wednesday.

(D) The ecarpenter and the
electrician may work on
consecutive days,
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Dhirections (Question Nos. 4 to 8):

Situation : It is 9.45 a.m. and you have

just arrived by car at one of your
shops in Gurgnon. You are about
to go into A& mesting and receive
& text message from head office the
South Delhi Shop in your region.
Itiz a 1 hour drive from where you

nre

Message : Call from part time sales

=)

assistant at South Dethi Shop.
Both manager and team leader
have not shown up today-on
reasons given. Do stalf close shop
or try to keep going ? They are
new staff not sure what to do ?

Make the one hour drive to the
South Delhi Shop to help the staff
at the shop :

{A) Totally unscceptable

(B} Not helpful

i OK but not ideal

i A pood thing to do
Immedintely telephone head office
to clarify the messags :

LA} Totally unaceeptable

(B} Not helpful

(C) OK but not ideal

(D) A good thing to do

S8 - LPYoE—C

Try to find another Shop Manager
or Team Leader who is nearby and
can travel to South Delhi Shop to

provide cover.

{A) Totally unacceptable
(B Not helpful

(C} OK but not ideal
(D) A good thing to do

Immediately telephone the
South Delhi Shop to clarify the
situntion.

(A) Totally unacceptable

(B) Not helpful

iC) OK but not ideal

(M) A good thing to do

Try to contact with the South

Delhi Shop Manager or the Team
Leader.

(A) Totally unacceptable
(B) Not helpful

(C) OK but not ideal
D) A good thing to do
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Immediately telephone the South
Delhi Shop instructing them to
appologise to customers and close
the shop : .

(A) Totally unscceptable

(B) Not helpful

(C] OK but not idéal

(D) A good thing to do

Deepak is working in an

organization. He has been asked

to give an explanation for not
attending an important official

meeting. His immediate bogs did

not inform him about the meeting.

But now he is putting-pressure on

Decpak not to place an allegation

against him. What Deepak should

do ?

{Al Seek an appointment with
the top boss to explain the
situation.

(B) Send & written
explaining the fact.

(C) Put the responsibility on the
not informing.

(13 Admit his fault to save the
situation.

reply
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Rajat has been appointed officer-
in-charge of an aren which has
been affected by devastating flood
He has been assigned the task of
providing medical and other
facilities to the affected people.
Despite his best effort people put
allegations against him for making
money out of the funds given for
relief. Rajat would :
(A} Ask his senior to appoint
another person in his place.
(B} Not to pay attention to
allegations.
(C) Lot an enquiry be set up to

look into the matter.

(D} Stop undertaking any
initiative until the matter is
resolved.



10.

O ara FEE ' W WS w0
gw w0 R e | T S e W
fore, wmgr Wb qu T We wTd

(A) 9ol ¥9 8 wmimmd B
(B) HER

(C) 3% %, of s syl W ¥
(D) wr=m w4 §

for fEdi s e wmom R
TE A s A Wi 9
AR TET % W I T
ot | 39 TR Sl
(ata) ¥ wifin & a4 36 = g
il 9 6 | FiE AW I TS W
maR R Tt fE o
(#gw) 3o (wfewdt ) fawg
sfvwes (Zarm) 5 5t | 2eF R
W WfEw 7
(A) ¥ w3 gefesfs we
=3 ¥ MAnER w0 ¥ m
T
(B) wefenfe =2 w0 gu fefam
EL e
(C) difEn f go=mE T g
3 w7 w1 faoerdt e

() fogfa o frn v W fiam smn
B FWEIHE w o

33 ¢ 12Pyaz—C

11.

= W 3 8 W SiEE-E-ae
T W fEwsn S watan
3 | =8 wwriEm Wl 9w dfesa am
59 s ) wgad 1w A
o & | et WO w6 AR
Wt @il 3 T ow wEwmd € R
fafy & & w98 w59 w SmErom e

[ S

(A} ¥ At § WY R W
T =i W fgw w0 W
oM |

(B) 38 =rridw #1 sin wE ==
8 2W |

(C) aEjieafa w e e + fag
nien Afe-gEaE 83 W

(D) W 7 e e TH W
= el vR a1 = TW-

w0 ¥ W Am
P.TO.



¥ 4

55

12(Py2—C

A state government wanis to aet
up A big project in a village. But
the land required for the project
is owned by o group of 6-7 famibies.
The Village Panchayat wants
to go ahead with the project
without caring for the objections |
of the awners of the land for
compensation and related matters,
The attitude of the Panchaynt
I8

(I} Justified because maost of the

villagers will benafit.

(I} Justified becauze the total
eceonomiec welfure of the

village will incrense.

(111 Unjustified because those
who have to sacrifice have to
be reasonably eompensated.

IV} Justified because the gnins of
the majority of the villagers
should be set off ngainst the
losses to the fow.

Which of the above is correct 7
(A) Only I
(B) Only 11
(C) Al the four (I, II, 11 & IV)
(D} Only Il

13.

Ram before joining the job in the
city was living in his village. He
was very popular among his
friends and relatives. After joining
the job he is living in the city
where he is working. Ram checked
his appointment diary before
coming home in the evening.
Tomorrow he has to attend a
routine meeting in office. When he
went home in the evening he
receives a message from a close
relative from village, who is coming
to the ecity where Ram is living.
He (the relative} has asked Ram
to meet him at the station. Ram
ig in dilemma because he has
already used up his allowed days
of ordinary leave. Ram's wife
advises him to take medical leave
feigning & non-existent stomach
upeet. Ham should :

{A) Follow her advice

(B) Not anly follow her advice but
also send a fictitious medical
certificate to office.

(C) Besides sending the false
medical certificate, after
resuming duty, pretend to be
recovering from the allment.

‘D) Inform the relative of his
officinl engagement and offer
help through another friend.
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You are posted as a block level
afficer in-charge in a district.
Based on directions from seniors
and higher officials an eye camp
for conducting cataract operations
for the poor and needy is
organized. This program has been
well publicised and is likely to be
attended by senior officials and
political leaders. However, a day
before the program, the surgeons
strongly opine that the proposed
site and environment of the camp
can pose hygiene issues. You fear
that the cancellation of the camp
will refleet badly on vour site

selection. What action under these

circumstances will you take 7

(A} Inform the higher officials of
the situation and cancel the
CAMp.

(B} Try to persuade the patients

not to come to the camp.

(C} Leave the whole matter to be
decided by the surgeons and

yvour senior officers,

Fumigate and clean up the
environs and request the
surgeons to recongider their
views.

{D)

1 2(Py02—C
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15.

16.

Rashmi has to complete a very
important assignment of her office
in the next three days. Suddenly
she met with an accident. Her
office insists that she complete the
nssignment, Rashmi would :

(A) Inform office of her inability
to finish In time.
Ask _fn-t* an extension of

deadline,
Stay away till she recover.

Suggest alternate person to

office who may do the
needful.

The government has launched a
scheme for the benefit of the
people. This has become very
popular and large number of
people are applying for it. In fact
the office is flooded with
applications frem the people who
want to get benefit from this
scheme. Hohan is the officer in-
charge of the office responsible for
implementation of this scheme.
There is speculation in public that
benefits of the scheme will be given
first to the influential and
others will be left ind. What
Rohan should do (as the best way)

for alloying such fears 7

{(A] Take no action since such
fears are groundless.

Issue a statement in press
assuring pecple of fair play.
Place daily updated informa-
tion on your office website
and notice board showing
the datewise list of the appli-
cations and your approvals
Hold a press conference and

tell people not to believe
BNy FUmOours.

(B)

(C)
)

(B

c)

()
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Ramalingam is often late in
reaching office. One day when
he reaches in a meeting slightly
late, hiz bosg Thingujam quips
“Here comes Rﬁmﬂhngﬂ.l'n.. Never
on Time,” and everyone in the
meeting laughs. Thingujam’'s
quip is :

(Al Unjustified as Ramalingam
could have been held up in

traffic.

(B} Unwurranted since it departs

from the main item under

discussion.
(C1  Justified sinée Ramalingam
is a habitual late comer.
]

Unjustified as Thingujam
ghould have admonished
Ramalingam in private

instead of Joking in public

SS : 124PYV02—C
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Dr. Dhan Singh works in an office.
On instructions from his seniors
Dr. Singh told his assistant
Jagmohan to prepare a proposal
for approving construction plans
for a resort on sea coast. Jagmohan
notices that a substantial part of
the resort is falling within Coastal
Regulatory Zone. Moreover,
stipulations regarding CRZ do not
seem to have been taken into
account. When he brings out this
to Dr. Dhan Singh's notice, he (Dr.
Singh) gets irritated and says, ‘Are
you trying to teach me law". Dr,
Dhan Singh's reaction is :
(A} Appropriate because senior
officers know the law.

(B} Improper in being needlessly
impalite.
() Proper since young officers

have to be I‘.hug;ht MANNETE.

iy Improper sinece it is

gratuitously offensive and
refuses to look at the facts
and law.
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Ramita is working on the reception
desk of the corporate office of n
company. She is asked to greet
everyone who enter the office, with
a smile, as it 15 considered a part
of efforts to improve customer
relations, Ramita objects to it
fealing that it would seem an
ingratiating gesture. Her seniors

still insist. Is Ramita justified in

her view 7

(A) No, us greeting is a
courtesy which 18 universely
apprecinted.

iB) Yes, as such smiles look
artificial.

lﬂl_ Yes, as such views reflect
regressive attitude towards
WOIMED

(D)  Ramita represents the
confident and liberated
new generation of women

A good communicator should be ;

(A} Good speaker.

(B) Good listener

(Ch Euth_ good speaker and
listener

(D) Node of the above

88 : 12(P)y02—C
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21.  Listening approximately eonstitutes

(A} 75% of the communication
(B) B50% of the communication
(C) 25% of the communication
(D) More than 1/3rd of the
pommunication
In work situations officials have to
discuss the problems and find
solutions. In your opinion which
of the following are unprofessional ?
(I} Insist on your person views.
(I} Discuss the issues based on
(III} Try to score debating points
over othors,

(IV) Impress others with vour
knowledge.

Now select the correet answer from
the codes given below :

{A) 1l ond 11
(B I, 1 and IN
(C) T and TV
I OI and IV
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Transactional Analysis (TA) is one
of the important techniques used
for developing interpersonal skills

and understanding interpersonal
relations. Who among the
following iz given the eredit for
developing TA ?

1A} Eric Berne

1B Thomas Haris
(Ch Eigmuﬁd Freud
i3} John Paul Sartre

Which of the following is nat a
Communication siyle ¥

(Al Passive .
(B} Obtrusive
(C)  Assertive =

(M Aggressive -

When someone listen to the other
person with the best of intent and
then become distracted, either by
stray thoughts or by something
that the other person has said. It
i5 an example of :

{A)  BSelective listening
(B} Partial listening
i) Full listening

i Deep listening

- 1aPIoe—C
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The 'Bandwidth-Fidelity dilemma’
in communication context refers
o :

(A} The size of the message
(B} The accuracy of the message
(C) The larger the size of the
message the lesser will be the

accuracy in ecommunication
(D) None of the above

Which of the following is correct
about functions of communication ?
(I} Control

(I} Metivation

(I} Emotional expression
(IV) Information

{A) Only T is true

(B)Y Only I, I and III are true
iy L IL I and IV are all true

(D} Only TV is troe
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wand] & T & wa S e
(TA) HETA® Fo+h 8 § 0% § |
waragn favemm & fawm w89
frefeEm i e e & 7

(A) uftF o

(B) wfm s
(C) fEmHE wEs
(D) =7 ufH A

frefafen o @ = @i he i
B
(A Trfern (8faw)
(B} W= (Obtrusive)
() HAVFEETET (Assertive)
(D) SRTT% (Aggressive)

wa w1 fFelt # wgEn @ aw g
% 37 7 T Af e o =R
3 9 wE FW T IE S0 SHEeg
O A

(A TUATHE S W1
(B) 3foT® s=wA =
(C) T 4= =

(M) " S99 =
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27,

26, TWn % wed © ‘Jufagn-frEfee

e’ wefla won B o

(A) HIW W AER

(B) WEW F LEA

(C) =Zm W We faon @@ g
udhic ol L

(D) w8/ W

frefetas 8 & FHm @98 % 5@
wat d Ak ?

() fresm

(I} =iem

(I11) wrEmsTs Fm

(TV) e

(A) ¥ 1 89 §
(B) #== 1, Il 7 III %= &
(C) I, I1, 111 wen IV =it wea §

M) Fa= IV 79 %

P.T.O.
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33 :

How many straight lines are there
in the figure 7

(Al
(B}
(C)
(o

a8
9
10
11

How many

the figure 7

8 are there in

(Al
(B}
{C)
1)

10
16
]
9

12/(PV02—C
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Given below there are two sets of
figures. One set is marked 1, 2, 3,
4 and 5 and is called the problem
figures. The other set of figures is
marked A,.B, C and D and is called
the answer figures. Select a figure
from amongst the answer figures
which will continue the same series
as established by the five problem
figures,

Problem Figures :

“
—_—

al.

2 @ (5)
Answer Figures :

(1) (4

B e @

e

If x+ — = 10, one of the values

H

of x - is :

|

(A)
(B)
(Ch
(D)

46
43

83
None of the above



og, Taw # feodt o @l § 7

(A) B
(B) 9
1 10
(D) 11

29 fmdfFrm o § 7

(A} 10
(B) 16
(C) B
D)y 8

58 : 12(Py02—C
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RAfie Al
% oh H2 1, 2,3, 4 ™ 5w
§ fam wwem fas &g omm £
i@ st e A B CTD
sifra & o =@ IW o3 ¥w ™
¥ swmfasi 9w w1 A
Fifay = ofa wwen o9 4 6
st w o T T

e faw

31

(&)

(A) (B} (C) (o)

1
‘iﬁx+l-1ﬂ.?i'l.-,_—q:r1r_m
X X
HE OB -
(A 4.6
(B) 4.3
(C} &3

D) 9w 8 & =% 76
P.T.0.



92 HCPF. of %. 15;2 . % is - 35. IfH.C.F. of two numbers 336 and
414 is 6, then the L.C.M. of the
1
(Al 4 game numbers is :
15 (A) 23184
(Hj 96 §
" (B) 69552
() 12
(Cy 139104
1
(D} lﬁ (D} None of the above
33, The value of 36. Product of zeros of the polynomial
0.625 x 0.625 - 0.375 x 0.375 B — dx — 20 is :
0.25
- (A) j
is equal to : b
i
(A) 0.250 (B) %
(B) 0.750 () —4
(C) 1000
D) 4
i 1.625
805 . 37. How many three-digit numbers are
M. II’T=m- then nna?fthﬂ divisible by 3 7
values of 'x' is : 1
(A) 299
(A B0 ]
1 ) 208
(B) 1510 1
) 10415 (C) 30
(M 15.0 1 (D} 300

S8 - 120P)y02—C k



15 3 o e s & | 55 aft 2 wEmsl 336 AW 414 W

12' 10 :
° qHY 6 E ® T HSmns =
(A —} . @AAN. T o
15 (A) 23184
(B ﬁ
(B) 69552
1
(€ 12 (C) 139104
1 (D) 3Ivdm § & w5 T
M 730
36. WETE Sx® — 4x - 20 W 0 W PA-
0.625 x 0.625 - 0.375 = 0.375
43. 0.25 w1 T E.'m t ]
" H -4
¥ w 2
(A} 0.250 4
(B} r
(B} 0.760
(C) —4
(C) 1.000 .
(D) 1.6256 (m 4
625 E 27,  Fwwit dm-siwg gmnd 3 @ favrs
4. W= Tizoe' MY w TE B i
'EFHT i
(A) 9.0 A 3%
TH'] —lE-.'rl_ﬂ (B) - 288
€} 10415 (C) 301
o 15.0 (D 300

88 : 12MPyo2—C 21 P.T.O,
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59

40.

Sum of all terms of the series
-, -1, kL X §, ..., 51

is :

iA) 675

(B} 672

(C) 700

(DY B40

Sum of two irrational numbers ;
(Al 18 a rational number

B!l is an irrational number
(C) is an imaginary number
D} can't draw any econclusion
IfA:B=5:6andB:C=8: 15,
then C : A is :

-

1A) %
(B) ;
o &

The mean of 10 numbers is 25,
If each number is multiplied by
107!, the new mean is :

(A) 250

i®) 25

() 26

Dy 17250

35 ; 12APpo2—C

A cricketer has a menn séore of 55
runs in 10 innings. How many runs
are to be scored by him in eleventh
mmning to reduce the mean score
to 50 7

(A) 45
(B} 40
(o) 0
M 10

The mode and median of
ﬂh!ﬂl‘l"ﬂﬁlﬂnﬂ, ‘EI 4# 4- a- 5«- H‘f 31 'l'r
3,6.4,3 5 are :

(A) mode = 3, median = 5
(B} mode = 3, median = 3
(C) mode = 4, madian = 3
| (@) mode = 3, median = 4
Mean of numbers

LA L S

(A) 143.5
(B) 1445
(Ch 143

(D} 2870



38. -3,-1,1,8,5 .. IFMFDA | 4o fizh fimben (Fedz faendl) =1 10
o :
:1:75 w ofdi w1 sfms =R 55 @ ¥
|
(B 672 el wft 4 sl =R 50 ™ W
()} 700 % fou =2 fem & ¥ =feq 7
(D) B40
: , ) 45
99 = smithm d@EmAl w1 =
(A) T= witha d=m ¥ (B) 40
(B) wF ity weam B A
(C) UF wredaw e ¥
Dy feeh Fewd o A w0 m 10
wwa B " )
W WA R RN 0 S WEREL RGO X
B:15 @ C: AW ¥ : 3, 5 ™ "Ees A Wi ¥
[A) % (A) "% = 3, W= = 5
4 (B) WEE= = 3, wifewR = 3
(B) —
4
(C) Wn{,ﬁhﬂnﬂ
, 13
o 21 () W:S.M:i
18) % 44, Twm 1 22 3% ..., 200 =
41 10 si=msh = oven 25 ¥ | uft v e ¥
wem w107 ® pw o, W@ &
T WD BT O: :
(Al 250 (B) 144.5
B} 2.5 )
© 25 (C) 143
(D) 1250 (D) 2870

B8 : 124Pwoz—C 23 P.T.O.



48

47.

Median of first 8 prime numbers
is :

(A) B

(B} &

c) 7

D) &

The weight (in kgl of different
students are as follows

41,35, 27, 29, 32, 43, 37, 41, 34,
28, 36, 44, 45, 42, 30.
The median is :

Ay 41

(B} 37

(C) 34
Dy 35

For what value of '¢', is the mode
of the following data 7 ?
3,2,6,7,5,4,7,5, Efzi—ﬁ. 8,2
(A} 9

(B) 4

(Cy -3

(I3} MNone of the above

12hPyo2—C

24

49,

afl.

The mean of 100 observations is
50. If one of the observations which
was 50 was replaced by 150, the
resulting mean will be :

(A) 51
(B) 505
(c)
(D)

If the value of mode is 35.5 and
the value of mean is 22, the value
of median will be -

561.5

562

(A} 255

(B) 245
(C) 265
(D) None of the above

Shoe size of most of the men in
India is No. 8. Which measures

of central tendency does it
represent 7

(A} Median

Mode

Mean

(D} None of the above

v (B)
(C)



45.

47.

SS : 12/(P)/02—C

wmsawmﬁmsﬁaﬁmﬁxm%.:

(A) 5

(B) 6

{(C) T

D) 8

fafv= faanfddi 5 wr (fen. )
freafafea ¥ -

31, 85, 27, 29, 32, 43, 37, 41, 34,
28, 36, 44, 45, 42, 30.

wifeast §

A) 41

(B) 37

(C) 34
(D) 35

v F WA WH frefates w65E 7
F1 FgTs B ?
3,2,6,7,5,4,7,5,6,22-2, 8,2
A 9

(B) 4

) =8

(D) 39w § | FE T

25

48.

49.

50.

1100 W&ol w1 wew 50 ® 1 af =

Sevil § ¥ v fawe 7¢ 50 €, 150
®WE WA w1 e s ¥

@ wftomt = g
(A) 51

(B) 50.5
(C) 515
(D) 52

3¢ Sgerr 1 WM 35.5 a9 AeA F
AE 22 ¥, @ wifemsw w1 AW A o

(A) 255
(B) 245
(C) 265
(D) 399w ¥ § wE T&

i i s T @ S A

8 % | 35T wgfH 3 FHY W9 F
77 yefdfa =t ¥ 2

(A) wfegen
(B) wge
(C) wrem

(D) . 3w+ | & = 7
P.T.0.



Directions (Question Nos. 51 to 55) :

Read the following passage
nnd answer the questions that
follow :

Courage is not merely a virtue, it's
the virtue. Without it there are
no other virtues, Faith, hope,
charity—all the rest don't becoms
virtues until it takes courage to
exercise them. Courage isn't only
the basis of all virtues; it's like its
expression. True you may be bad
and brave, but you ean't be good
without being brave. Courage is a
mantal state—an affair of spirit—
and so it gets its strength from
spiritual and intellectual sources.
The way in which these spiritual
and intellectual elements are
blended produces roughly twao
types of courage. The first, an
emational state which urges a man

to rizk injury or death—physical

S8 : 12H{Py02—C
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51.

courage. The second, a more
reasoning attitude which enables
him coolly to stake ecareer,
happiness, his whole future, on his
judgment of what he thinks
either right or worthwhile—moral
courage. Both are distinct. To be
really great, a man—or for that
matter, & nation—must possess
both kinds of cournge.

The most appropriate title for the
passage would be

(A} Courage : A Mere Virtue

(B) Ethies : The Basis of Courage
(C) Courage, the Virtue
(D} Physical Cournge versus

Moral Courage

62, Physical and moral courages are

(A} Interchangeable

{B) Exnctly alike
1€}  Distinet

(D) Opposite to each other



fadw (v % 51 & 55) ; Froafisfay s

= ufgd sitr faw o uwet # I
e iF

Courage is not merely a virtue, it's
the virtue. Without it there are
no other virtues. Faith, hope,
charity—all the rest don't become
virtues until it takes courage to
exercise them. Courage isn't only
the hagis of all virtues; it's like its
expression. True you may be bad
and brave, but you can't be good
without being brave. Courage is a
mental state—an affair of spirit—
and so it gets its strength from
spiritual and intelleetual sources,
The way in which these spiritual
and intellectual elements are
blended produces roughly two
types of courage. The first, an
emotional state which urges a man

to risk injury or death—physical

88 : 12{PWo2—C
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B1.

courage. The second, a more
reasoning attitude which enables
him coolly to stake ecareer,
happiness, his whale future, on his
judgment of what he thinks
either right or worthwhile—maoral
courage. Both are distinet. To be
really great, a man—or for that
matter, & nation—must possess
both kinds of courage.

The most appropriate title for the
passage would be :

(A)
(B) Ethies : The Basis of Courage
(C) Courage, the Virtue

Courage | A Mere Virtue

(D] Physical Courage versus
Moral Courage

Physical and moral courages are :

(A) Interchangeable

(B) Exactly alike

(C) Distinet

(I} Opposite to ench other

P.T.O.
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Courage enables .......... to become
great.

(Al both the individual and the

nation
tB) only a nation
i) only an individual

D) neither the individual nor
the nation
Physical courage is described as ;

iA) independent of one's

psychological state

(B} dependent on one's physical
strength

(CY a matter of fine intellect

AD)  an emotional state

Other virtues, sceording o author,

become virtues when !

(Al they come together

iB)  they are expressed

(C) they blend into thoughts

(D) they become imperceptible

: 12f{PW02—C

pei .

Directions (Question Nos. 58 to 60) :

Read the following passage
and answer the questions that

follow :

It i= said that wars are fought for
the sake of peace. Many a politician
justifies wars as being the means
of bringing about stability in the
international relations. So far as
the aim of those who are alwavs
busy in society is concerned, thair
motive is nol always to achieve
freedom from work. Their ultimate
purpose is not to be idle. To be
busy iz a mode of life or habit.
Those who are busy in society,
say, businessmen. or people in
authority, politicians or statesmen,
officials or employees, are all part
of the continuous machine which

keeps the society going.

People are busy =0 that different
activities of a society are carried
out and the wherewithal which
mankind badly needs are provided.
No society, however, prosperous
and endowed with bounties of
nature, can afford to have the
objective of being idle in the long



85 : 12/{Pwo2—C

Courage enables .......... to become

great.

(A) both the individual and the
nation

(B} only a nation

(C} only an individual

(M neither the individoal nor

the nation
Physical courage is described as :

(A} independent of one's

psychological state

(B) dependent on one’s physical
strength

(C) a matter of fine intallect

([ an emotiocnal state

Uther virtues, according to author,
become virtues when :

(A} they come together
(B} they are expressed
(C) they blend into thoughts

(I} they become imperceptible

29

frdw (w. =. 56 9 60) : Frefafom swEmo

= g s fow o wEl &
difam -

It is said that wars are fought for
the sake of peace. Many a politician
Jjustifies wars ns being the means
of bringing about stability in the
international relations. So far as
the aim of those who are always
busy in society is concerned, their
motive 18 not always to achieve
freedom from work. Their ultimate
purpose 15 not to be idle. To be
busy is 1 mode of life or habit.
Those who are busy in society,
say, businessmen, or people in
autharity, politicians or stateamen,
afficials or employees, are all part
of the continuous machine which
keeps the soclety going.

People are busy so that different
activities of a society are carried
out and the wherewithal which
marikind badly needs are provided,
No society, however, prosperous
and endowed with bounties of
nature, can afford to have the
objective of being idle in the long

P.T.O,



56.

85

run. Not doubt, advaneed countries
ensure minimum facilities of living
and amenities of work for their
workmen; they even fix their
working hours so that after their
busy day's life they can have some
leisure at their disposal for self
development or peace of mind. Yet,
with the passage of time a busy
society has the tendency to become
busier. Even with the best
computers and automation at the
disposal of the modern technoerats
manpower continues to remain
sy, as one phase of achievement
leads automatically to the second
phase of work. War may have the
intention of peace but business is
unending so long as a society has
the objective of progress and does
not bécome stationary or stagnant

or decadent,

According to the passage, busy

people :

(A) want freedom from work

(B} want to be idle

(Y do not like rest

(D) are part of a machine which
runs society

12(Pyo2—C

B7.

59.

Why are people busy 7
(A} To ecarry out different
activities of society

(B} To provide needs of mankind

. 1C) Both {A) and (B)

(D) None of the above
The author says that :
{A) no society can be idle

(B} developed countries can be
idle

(C) underdeveloped countries
can be idle

(D} all of the above
Computer and automation :
(A) have made man idle

(B} could not relieve man from
busy life

i) both (A) and (B)
() none of the above

With the passage of time man is
becoming busier because :

{A) he likes to be busy

(B) he is born to be busy

(T} to be busy is mode of life
(D) laws compel him to be busy



56,

run. Mot doubt, advanced eountries
ensure minimum facilities of hiving
and amenities of work for their

workmen; they even fix their
working hours so that after their
busy day’s life they can have same
leisure at their disposal for self
development or peace of mind. Yet,
with the passage of time a busy
society has the tendency to become
busier. Even with the best
computers and automation at the
digposal of the modern technocrats
manpower continues to remain
busy, as one phase of achievement
leads automatically to the second
phase of work. War may have the
intention of peace but business is
unending so long as a society has
the objective of progress and does
not become stationary or stagnant
or decadent.

According to the passage, busy
people :

(A} want freedom from work
(B}
(C)
(D)

want to be idle
do not like rest

are part of a machine which
runs society

88 : 12/(Py02—C
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57.

58,

60.

Why are people busy ?

(A} To carry out different
activities of society

To provide needs of mankind
Both (A) and (B)

None of the above

(B)
(c
I b))
The
(A)
(B)

author says that :

no society can be idle
developed countries can be
idle

(C) underdeveloped countries

can be idle
(D) all of the above
Computer and automation :
(A) have made man idle

(B) could not relieve man from
busy life

(C) both (A) and (B)

(D) none of the above

With the passage of time man is

becoming busier because :

{A) he likes to be busy

(B) he ig barn to be busy

(C) to be busy is mode of life

(D) laws compel him to be busy
P.T.O.



Direetions (Question Nos. 61 to 66):

fil

6.

offi

l

Each sentence below has two
blanks and is followed by four
sets of words. Choose the set
of words that best fills in the
blanks.

ITrbanization means

of population leading to high

...................... of population in big

(A} compilation; ratio

B! concentration, density
i) secumulation: number
(I¥  mugration; increase

.. of & suituble hobby
depends on the time that vou can
devote to it, the money you can

afford, and your ...
{A] Selection; aptitude

iBi  Mastery; psvchology
(C) Acquiring; sex

{n Management; eminence

12 Pun2—_

It is the current faghion to
i ashow ol ...
in covering 8 funeral, except
when there 15 extraordinary
justification for such a display.

(A) mistake; comedy

(B} encournge; ragedy
) discourage; melodrama
(1Y avod; emotions

In a world that poses the threat
of total ... .... through war

of all mankind through revalution,
no cause is left but the cause of
freedom versus tyranny.

(A) annihilation; emancipation
{B) nourishment, bondage

(C}  promotion; enslavement
(D) construction; apartheid

The role of press cannot be
.................. even in a dictatorship,
because a dictator also needs the

... his ideology

press for oo
and policies.

(Al exploited; reflecting

(B} eulogized; writing

(C)  misused; suppressing
) minimized; broadcasting



i (v, & 61 9 a5) : 42 f2d v vas

61.

BS

mﬂﬁuﬂmtﬁhﬂ
& 9w ¥ g § 1 v & Wl
W= wt g o wrelt wa wfita

Urbanization means ................
of population leading to high

................... of population in big

cities

(A} compilation; ratio

(B} eoncentration; density
(C)  mecumulation; number
(D) migration; increase

- of a suitable hobby
depends on the time that you can
devote to it, the monevy you ecan

afford, and your ... ;

(A} Selection; aptitude

(B) Mastery; psychology
(C) Acquiring; sex

(N Mansgement; eminence
12{PMoz2—cC

43

fid.

65.

It is the current fashion to
i e A EhOw el i
in covering a funeral, except
when there is extraordinary
justification for such a display.

(A} mistake; comedy

(B) encourage; tragedy
) discourage; melodrama
(D

In a world that poses the threat
... through war

avoid; emotions

of all mankind through revolution,
no cause is left but the cause of
freedom versus tyranny.

(A} annihilation; emancipation
(B} nourishment; bum:lng‘u

(C] promotion; enslavement
(D]  comstruction; apartheid

The role of press cannot be

. even in & dictatorship,
I:recnuae a dictator also nnﬂda the

and policies,

exploited; reflecting

eulogized; writing

misused; suppressing

minimized; broadcasting
P.T.O.

LA}
(B)
()
(D)



Directions (Question Nos. 66 to T0) :

ity

=
=1

b

o
£

In each of the following
gquestions a number series is
given with one term missing.
Choose the correct alternative
that will continue the same
pattern and fill in the blank

space and replace the E.
1, 4, 9, 16, 25, [?]

(A} 48
By 35
(Cy 46
(D) 49

3, 6, 18, 72, 7]
(Al 216
(B} 144

(C) 288
D) 360

5, 17, 37, 65, [1], 145

(A} 101
(B) 98
icy a7
(D 96

12vPyo2—C

a4

69,

T0.

12, 32, 72, 152, |7|
LA}
(B)

312

325

(C) Bl15

[D]: 613

1, 6,18, 22, 83, 7]
(A) 45

(B) 44

(C) 46

(D) 47

Diirections (Question Nos. 71 and 72) :

7L

T2,

In each of the following
guestions one term in the
number series is wrong. Find
out the wrong lerm.

1, 5,9, 16,25, 37, 49
A) 9

(B)
(C)
D)
6, 14, 30, 64, 126
(A) '
B) 6

(C) 126
64

16
25
37

14

(D}



fdw (u. = 668 7 70) ﬁnﬁmﬂwﬂ

b,

58 ¢

¥ yers # e weEn it 9w g
Fovered e e e g & 1 38 fee
&1 =9 Fifaw = w6 ey ==
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1, 4, 9, 16, 25, [?]

{A) 48
(B) 35

i) 36

) 49
g, 6, 18, 72, [7]
(A) 216
(B) 144
() 288
D) 360

5. 17, 37, 65, 7|, 145
(A) 101
(B) 99
(C) 97
(D) 95

120 PY02—C

a5

70.

12, 32, 72, 152,
(A)
(B}
(C) 516

312
325
M) 613
1, 6, 13, 22, 33, [7]
(A) 45

(B) 44
(C) 46

() 47

frder (0. & 71 wE 72) : FrofeiEa ol

TL

T2

H s § tm wen dvi = U
UE e £ | 3 e UE W wE
WHITAT |

1, 5, 9, 16, 25, 37, 48

(A) 9

(B) 16

(C) 25

{n) .37

6, 14, 30, 64, 128

(A}
(B) &
(C)

14

126
(D) 64

P.T.O
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i,

55

If FACE is coded as GBDF, then

BADE will be coded as -

(Al CEBF

(B} CBEF

(C) CBFE

v CFEBE

If RESULT is coded as 798206,
then LET will be coded as :

(A1 086

(B} 088

(C) 092

(D) 680

If GENIUS is coded as IGPEWL,
then IDIOT will be written in the

same code as |
(A) HCHNS
(B} JEJPU
(C) KFEQV

(¥ LGLEW

12((Py02—C

Directions (Guestion Nos. 76 and 77) :

76,

In the questions given below
one term is missing. Based on
the relationship of the two
given words, find the lﬂﬂillﬂ.’ :
term from the given options.

GFC : CFG : : RPJ : 7

(A) JPR

(B) JRP

iC) PJIR

(D} RJP

DIMO : DMIO ; - JUVR : ?
(A) JVRU

(B) JRVU

(C) JUVR

(D) JVUR

Directions (Question Nos. T8 and 79) :

T8.

In each of the lollowing series
determine the order of the
letters. Then from the given
options select the one which
will complete the given
series.

X VT?
(A) Q

(B) 8
(c) P
D) R



4.

a2 FACE %1 GRDF % ¥4 § wifen
fFm 7w ®, @ BADE %1 %Iz =

wm 7

iA) CEBF
(B} CBEF
i{C) CBFE
(v CFBE

Iz RESULT %1 798206 % =7 §
itz &5 = &, @ LET =1 =12

w1 OEPm ?
(A 096

(B (86
(Cr 092
(I 680

iz GENTUS =1 IGPKWU % 9 #
Fiza fem e & oA@ o= oW A

IDIOT &9 wen femm swim 2
(Al HCHNS
(B) JEJPU
(C) KFEQV

D) LGLEW

BE : 120(PYO2—

fdw (u, %. 76 wd 77) : Frafafa gt

76.

7.

frds dors mgEEnt i &
ol wir vt & wawl & anaw uy
fed i famedl & @ 92 gu v W

7\ =i

GFC : CFG : : RPJ : ?

(A) JPR

(B) JRP

(C) PJR

D) RJIP

DIMO : DMIC - : JUVR : 7
(A)
(B)

JVRU
JRVU
JUVR
JVIUR

(C)
(D)

féw (v %. 78 75 79) : Ffafas v

18,

guft ® =il (3art) ® ww oW
Pratror =7 1 7 it qu et
# 30 fawea & wgw wT W &
smft = QoW )

ZXV.T?

A @

(B} 8

C) P

D R
P.T.O.



79. C,GLR?
(Al W
(B} X
w Y

(]

Direetions (Question Nos. 80 to 82) @
Which of the following group
of letters will complete the

()

given series 7

ith—reca—bece—bbeeL
LAY abbe
hbace
(€1 bbea

(D eabe

e.g--;m'i—’-—-im—
I
(A) abab

(B baab
ahba

1B}

51

(%
iy baba

XXX YV ~XXY-+ VXX
YXVX

XYXY

VYK

XYY

. (A)
B
1l
i

85 ¢ 12qPwoa—C

33

B3. ‘Earth’ is related to 'Axis’ in the
same way ag “Wheel' iz related
(A} Car
(B) Tyre
i) Hub
Dy Road

84 ‘Neck' iz related to “Tie' in the
same way as 'Waist' iz related
(A} Belt
(B) Watch
(C) Ribbon
(D) Shart

Directions (Question Nos. 85 and 86) :
In each of the following
guestions four words have
been given, out of which three
are alike in some manner and
the fourth one is different.
Choose out the odd one.

Paddy.
Wheat *
Mustard

Jownr

(A)
(B}
1
(D)
(A)
(B)
(C)
()

Apple
Mango
Potato

Orange



7.

C.G L R 7?7
LA}
(B
(C]

M- Moo

I

fdw (w. % 80 9 B2) : ProfEfas ot

8l

oy Uy 1§ & et Sl s wem
Tl AqE T w7

ab—eeea—bece—bbee—
(A] abbe

(B) bbae

(C)  bbea

(D) eabe

ab—lip— —ba—

(A} abab

(B} baab

(C) abba

(i baba
Y Y — XY —Y XX —
(Al YXYX

(B) XYXY

(C) YYXX

Dy XXYY

s - 12Pvo2—C i

83.

B4

‘et @ ol e W
=y ‘ofgm’ (W) W Fofatee
# k.

(Al TH

(B} =91

(C) ==

D) w%%

'R W ‘T A I o HEAv A
oy ‘T W eieafam 2 R
(A) "=

(B) wEt

() e (Fmn

=

(D] A=

fdw (0. %. 85 vH 86) : Frofefas v

8.

o weirn o = v g A ¥ fawd
| A v faedt 5 fedt = of o
A ¥ Tt ot v dEE R
30 UHE Ve W WO WitAU

(A)
(B)
(C)
()
(A)
(B}
(C)
()

149444473

P.T.O.



Directions (Question Nos. BT to B :

H8,

BO,

In each of the following
gquestions four words are
given, out of which three are
alike in some manner and one
is different, Choose out the
odd one.

(A) Jesus

iB) Muahavir
iC) M. Gandhi
iy Marx

iA) Sguare
‘Bl Triangle
() Cube

(I¥ Rectangle
(A} Violet

(Bl Green

C) Red

(D Yellow

Directions (Question Nos, 50 to 93) :

Read the following information
and answer the gquestions

given below

In a school, there were five
teachers. A and B were teaching
Hindi and English. C and B
were teaching English and
Ceography. D and A were teaching
Mathematics and Hindi. E and B
were teaching History and
French

Who among the following teachers

teaches the maximum number of
subjects 7

(A) B
iHY A
i n
o

55 : 120Py02—C

40

H1.

o2

_ i1k
4.

Which of the following pairs was
teaching both Geography and
Hindi ?

{A] B and C

(B} A and C

(C} Aand B

[y None of the above

Which of the following subjects
is taught by more than twe
teachers 7

(A) Mathematics

(B History-

(C) French

(Dy English

Who among the following teachers
teaches less than two subjects 7
Ay D

iB) C

iCh A

None of the above

A matrix with one question mark
in one block is given below. Select
the correct response from the given

alternatives which will replace the

quuﬁmmukmintbﬂmntri:_

K: | Ly

Ly | M;

(A)
(B)
()
D) Lg



firdwr (w. & 87 @ 88) : Frafefes ol
o v ¥ an v fad v § e
W A v Tt = famedt =0 of um-
mRimmdmy= = oW
U Ve W W9 witaw |

87. (A) T T
(B}
(C) W T
(M =

88, (A =
(B fm

(Cy =
I
Tt

|

B #i @ yie ug % @ ) D am
AMm e et o ® | E
Bsmm owm dw o ® A

o0, fr=fefam 4 @ S99 s o=l
wfew foog wgm ¥ 7

(&)
(B)
(C)
m C

85 : 12(Py02—C 41

o = =

91.

92.

a3.

frafafas § 4 $9 g8 (8 9ie
aen @ vy k7

{A) BadmC

(B) A™aC

iC) A™T B

(D) Tvgss A & 1§ T4
Fr=fofam 4 & =i foag & @
i syesarosi o wgen W & 2
(A) Tifom

(B) e

(C) e

(D) S
frefafas 4 & F9m sams 9 3
Fn o wpm & 7

(A) D

(B) C

C) A

M =vfm 3 4 =%

TF =iF (E2) § UF WAlag § 9y
uw dfewn (smem) Bmomn ko
el 7 fawedi § A 39 @@ fawew
W w9 wifwe =@ wew (Afew) §
wwEtEg % e 9 = o

-
K"T Li Hl.l:l
Ly | My | Ky
Pl Ls | B

(4) Mg

B M,

© K

D) Ly

P.T.O.



Find out the missing number [?]
from the given alternatives.

28
7 11
4 65 7
A} B
{B) 3
iCl 13
D 8

DNirections (Question Nos. 88 to 08) :

97

The following guestions
consist of two words each that
hm_l_nurtllnmlntl.nn-lhipm
each other followed by four
pairs of words, Select the pair
that has the snme relotionship
as the originmt puir of words.

Optimastic . Pessimistic
(A
(B)
(C)
)
Bird : Wings

(A) Car : Wheel
(B} Pen : Paper
(C) Whale : Water

(D) Dog : Lungs

Tolerating : Disgusting
Export : Import

EItL';‘_ﬁJ * Play

Dil... . : Impossible

58 ; 124Py02—-C

42

100.

Stage : Theatre

hl:ll Bedroom : Drawingroom
(H)
(C) Patieat : Hospital
(M) Classroom : School

Car : Road

Rashmi is the mother of Chinu
and Cherry. If Arvind is the
husband of Cherry, what is Rashmi
to Arvind ?

(A) Bister
(B) Dauoghter
i) Mother-in-law
D) Mother

Renu is the wife of Shyam. Shyam
is the brother of Sohan. Sohan is |
the son of Prem. How 18 Prem

related to Renu 7
(A} Daughter
(B) Son

(C) Father-in-law

(I Brother



2 ng fawed 8 | oo v (7))
w AR WA :

28
? 11
4 fia 7
Al &
(Bl 3
iy 158
Dy 8

3w (u. %, 96 7 98) : FoaTatam

88 ; 12PY02—C

e § 21 v f2a ¥ e wrew
wo fafeam waw & | = 4 =
w=i & W g e ¥ o oW
= 999wt fand v & 9w
WE ST wEg wo

smmart ;o P
(A} FEAHTE ; FETEHT
(B) faw : smm
(C) #am ;¥
(D) wfat : F=ve
TET : T
(A} T : TED
(B) %8 (%)
(C) == : 7
D) wHW : FHS

i =HhA

43

98.

104,

qe (B4) : e
(A) vETEE : SHTEA
(B) $R : AFF

(C) Wit : s
(D &= : Taewm

em, < 7 5 =1+ F | T e,
W v R, W mowm mfEm A

¥ w7

A) afim

(B} gl

{C_}.'.i?ﬂﬂ'-

™ A

Yo, yam O B )y, e
MR iEm MWt A
oW o owEs b7

(A) T

B) T

(C) T

()
P.T.O.
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HPAS Prelims 2012 (Aptitude Paper)

Answer Key
1 2 3 4 | C 5|1 C| 6 7 8 9 10
11 12 13 14| D (15| D | 16 17 18 19 20
21 22 23 24| B | 25| B | 26 27 28 29 30
31 32 33 34| B|[35| A |36 37 38 39 40
41 42 43 4| A | 45| B | 46 47 48 49 50
51 52 53 54| D | B5| C | 56 57 58 59 60
61 62 63 64| A| 65| D | 66 67 68 69 70
71 72 73 74| A |75 C |76 77 78 79 80
81 82 83 84| A|[85| C | 86 87 88 89 90
91 92 93 94| A|95| B |96 97 98 99 100
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